[ ORENZ

MANUFACTURING

1800 14th Avenue NW
Watertown, SD 57201

Phone: (605) 886-9596 Fax: (605) 886-9310

Toll Free: 1-888-456-7360
www.lorenzmfg.com

6/1/2016

Part # Description Price

1A071 3/8 x 3 HHCS 0.95
1A110 1/2 x 3 1/2 HHCS 1.10
1A136 5/8 x 5 HHCS 2.80
1A165 3/4 x 4 HHCS 3.35
1A167 3/4 x5 HHCS 3.90
1A238 Shovel Bolt 0.65
1A303 1 Flat Washer 0.45
1A361 3/8 Lock Washer 0.12
1A364 1/2 Lock Washer 0.20
1A365 5/8 Lock Washer 0.22
1A366 3/4 Lock Washer 0.24
1A438 3/8 Hex Nut 0.15
1A451 1/2 Hex Nut 0.20
1A455 5/8 Hex Nut 0.40
1A462 3/4 Hex Nut 0.60
1A491 Hub Nut 0.90
1A492 Shovel Nut 0.30
1A493 Axle Nut 5-bolt 2.65
1A504 Hub Bolt X1064 5.00
1A505 Axle Nut 4-bolt 2.20
1B038 3/16 x 3 1/4 Hair Pin 1.20
1B039 7/32 x 4 3/4 Hair Pin 1.40
2E775 34823 Seal 4-bolt 7.00
2E776 35275 Cap 4-bolt 3.95
2E777 4 Bolt Hub 78.00
2E778 44643 Cone 4-bolt 15.20
2E779 105348 5 Bolt Hub 110.00
2E780 Dust Cap 5-bolt 4.05
2E781 104082 Inner Cone 5-bolt 12.00
2E782 104086 Outer Cone 5-bolt 9.00
2E783 104078 Seal 5-bolt 6.90
3G037 Spindle 4-Bolt 43.50
3G038 104990 Spindle 5-bolt 65.00
4K020 2 x 2 Tine Clamp 3.05
4K184 Upper 3-pt Pin Assy 1 x 4" 10.95
4K260 Lower 3-pt Hitch Pin LMC89 15.75
4K276 3 Step Lower 3-pt Pin Assy 34.00
5L118 1/2 x 3 x 4 3/4 U-Bolt 4.80
5L129 3/4 x 4 x 5 3/4 U-Bolt 8.10
5L150 12 x 32 mm HD Danish S Tine 24.00

Page 1

6/01/2016



Part # Description Price

5L151 10 x 32 mm x 22" Danish S Tine 21.00
5L164 1 3/8" HD Shovel 3.75
5L165 HD 2 3/4" Goosefoot Shovel 6.00
5L203 35172 13" Rim - 4 Bolt 84.00
5L204 103741 15" Rim - 5 Bolt 110.00
5N479 1" x 21 7/8" Jack Screw 35.50
6Q532 Headtower Brace Component 76.00
6Q533 Headtower Brace Component 76.00

Prices Subject to Change without Notice
Prices FOB Watertown, SD 57201

Page 2

6/01/2016



